ITI Welder 1st Year Module 5 Weldability of metals & Types of
inspection methods

(1). What is the name of the tool shown in figure? | ICEE: |3@|Q MU ¢l hIATH

(A) Brazing cutting tool | WW@

(B) Carbide brazed tool | d?IdT$S &I\),'S o[y

(C) Single point brazed tool | R HT‘.%C S cd
(D) Double point brazed tool | Wtﬁ%—é Sve cd

Correct Answer : A

(2). What is the necessity of allowing elements? | ddi df &r{ﬁri?léﬁﬁ
S{TIRIH T &1 § 2

(A) Improve physical properties | Wwﬁﬁ‘émﬁ

(B) Improve chemical properties | W‘I@ﬁﬁ?ﬂ?ﬁ
(C) Improve corrosive properties | H&‘W@ﬁﬁiﬂ?ﬁ
(D) Improve mechanical properties | W@ﬁﬁiﬂ?ﬁ

Correct Answer : D



(3). What is the percentage of carbon in medium carbon steel? | ALH HTe

W | w1e- 1 ufa=rd fea gl g?
(A) 0.05% to 0.30%

(B) 0.05% to 0.8%

(C) 0.30% to 0.6%

(D) 0.6%to1.2%

Correct Answer : C

(4). How many types of cast iron are there? | WWWWW@W%?
(A) 2
(B) 3
(C) 4
(D) 5

Correct Answer : C

(5). What is the name of the test shown in figure? | ICEE:] [GRaTT U TRI&01 1
TH T 82

(A) Impact | UHId
(B) Fatigue | YhTdc



(C) Face bend | a_ERT@W
(D) Fillet fracture | fihaie TharR

Correct Answer : D

(6). What is the use of metallic arc cutting and gauging? | Helfid 31I<§> GATR GﬁT

AT &7 T STANT g2

(A) To remove casting | IR geTH & T
(B) To remove rivets | Rdcq geM & ferw
(C) To remove dust | ¢dl 8¢ & forg

(D) Toremove weld bead | acS oS B SCI:I %]%’I'Q

Correct Answer : B

(7). What Non-destructive test is done using coloured dye and fluorescent liquid

to find minute cracks? | ﬁlﬂ?%ﬁ@ﬁﬁ%%ﬁ?ﬂ:{@g 3R TR T a’d
BT SN BB T DT A1 fe¥efae e foar Sirar g2

(A) Radiographic test | IfSThe TRiem
(B) Magnetic test | Wqﬁ&m

(C) Ultrasonic test | a@"@%qﬁw

(D) Liquid penetration test | dRA TR TRIefur

Correct Answer : D

(8). Which one of the flux is used in brass welding? | Wdd afesT H foog v
&1 JUANT fbaT ST 82

(A) Borax | CIECR:



(B) Zinc chloride | W?ﬁﬁﬂg_&'
(C) Sodium nitrate | @'%?Tq:llééﬁ
(D) Copper silver alloy | diar =idl iy g

Correct Answer : A

(9). Which method of test is conducted to know the tensile strength and ductility?

| I i 3R T S99 & fore uiequr o6t 1= Tt fafey smaifSra & et
a7

(A) Impact | THTT
(B) Tensile | STQl
(C) Fatigue | Y
(D) Guided bend | FERITHIS

Correct Answer : B

(10). What is the pre-heating temperature of cast iron? | WTFﬁBTWUﬁFITq
JTIH 1 82

(A) 200 to 310°C
(B) 250to 350°C
(C) 300to 350°C
(D) 350 to 450°C

Correct Answer : A



(11). What is the type of arc cutting shown in figure? | IEEE:] IE@IQ Ry 3Th
HICTHIUGR T 57

(A) Metal arc | Yl MU

(B) Carbon arc | CACRECIL)

(C) Oxygen arc | SIS =g
(D) Plasma arc | WITGHI Y

Correct Answer : A

(12). How to determine, if leaks are present in welded pressure vessels? | q’s’ﬁ

feffed forar ome f Acs e qara arfgwrsit & g dieg /2
(A) X - Ray test | TaG-¥ U1&f0T

(B) Usual inspection | ITHTT fR1&f0m

(C) Leak or Pressure | R&Td 1 gaTd

(D) Radio graphic test | XS ATfthdh GRI&01

Correct Answer : C




(13). What is the name of the tool shown in figure? | ICEE:| faaTy MU ¢ hITH

(A) Brazing cutting tool | WW@

(B) Carbide brazed cutting tool | d)IGIT‘iS &I\}'S HicT] cC

(C) Single - point brazed tool | ﬁ?ﬂ-uﬁ-‘;c e cd

(D) Double - point brazed tool | SGIﬂ-HTi;C &I\;‘S o[y

Correct Answer : B

(14). What are the costs involved in welding job? | AfcET SRt & 2fHre AnTd o’
87

(A) Electrode, power, labour | 3@3@_5’ ﬁlﬁ?ﬁ HHq

(B) Material and machining | IR 3R ARt

(C) Material and preparation | IR 3R ARy

(D) Proportion cost and works cost | 31Ijullr(:lcb dNTd GﬁTW NIR!

Correct Answer : A

(15). Which type of test is generally not used on the final product? | 3ifdy IdTe

IR {5 YHR BT U IR TR SYTANT el fhd1 SI1dT 82

-~

(A) Non-destructive test | 1 I%%glrcl\ﬂdd ccC




(B) Semi destructive test | @Tﬂméﬁ
(C) Destructive test | f¥cfded ¢
(D) Non destructive & semi destructive | Ti-l fS¥cfaed 3R JH! fexefdea

Correct Answer : C

(16). What is the name of the part marked ‘X’ shown in figure? | ICEE:| fGQmq i
X Sfd YT ST AH F1 82

S
(A) Spray | &

(B) Electrode arc | 3@3@3%
(C) Power lead | idy TS
(D) Flux coating | T DI

Correct Answer : A

EN

(17). Which one is the properties of cast iron? | GRS Q’I\I% D[ hlH HT‘IUT%?
(A) Brittle | TR




(B) Ductile | d<J

(C) Non - Magnetic | ?ITW
(D) Low compressive strength | Wﬂm@qﬁ

Correct Answer : A

(18). How the welding cost is calculated? | GIRSHASING ﬁmﬁﬁ\_ﬂ?ﬁé?

(A) Electrode, Power, Labour | 5@10@6, qrdx, ¥H
(B) Grinding, Power, Labour | ‘JI'IE.'%'JT, grde, 4H
(C) Lighting, Labour, Material | YD1, %I'J:[,E'I'J:I"f[
(D) Power, Labour, Painting | UldY, 3H, uf=T

Correct Answer : A

(19). What is the melting point of copper? | SIECARINGICAEE] '5-\|C|| %?
(A) 419°

(B) 620°C

(C) 950°C

(D) 1083°C

Correct Answer : D

(20). What is the melting point of zinc? | BEXCARINGICACANGI G\Idl %?
(A) 200°

(B) 419°C

(C) 619°C

(D) 1083°C



Correct Answer : B

(21). What type of preheating is done only at the portion of weld? | fPg upR &t

TR had dcs & e W BT oIl g2
(A) Full | HRTG3MT

(B) Local | RIFIT

(C) Direct | TH&

(D) Indirect | 3TUIE

Correct Answer : B

(22). When does the defect of gouging on cutting face takes place? | T BT
& BTe- TR A TIOHT BT S HE T 82

(A) Too much pre-heating | agau%ﬁﬁﬂﬁm
(B) Too slow cutting speed | dgd et 1fad @ Bre
(C) Excessive speed, inadequate pre-heating | &I?CI'%‘T% &fq'qfﬂqj-é”éll

(D) Too much cutting oxygen pressure | dgd Slal 3G P Gl HIh
pICHl

Correct Answer : C

(23). What is the NDT method using sound as a source? | Aid &b U H G B
SUTNT $Rd gUNDT faf g2

(A) Visual inspection | ﬁﬁ&lﬁw
(B) Pressure test | UIR o
(C) Stethoscopic test | TUHIUD e



(D) Magnetic particle test | ot UIidha o

Correct Answer : C

(24). Which stage the root gap is set in welding process? | a’%ﬂmﬁwﬁu
for aRor o feifd fopam S g2

(A) Before welding stage | Al TR A Hﬁa

(B) During welding stage | GIRSHEET %C?RI"I

(C) After welding stage | S TRUT b gdic

(D) Finishing welding stage | TG TR0 FHTT BT

Correct Answer : A

(25). Which type of stainless steel is weldable? | [ UHR &1 T-0H ¥id dcS

H Ag g2
(A) Nickel type | pid UspR

(B) Ferrite type | BRISC UHR
(C) Stabilized type | RRR TSGR
(D) Chromium type | PHIHTH UHR

Correct Answer : C

(26). How many types of preheating are there? | WWWﬁEﬁ?ﬁg?
(A) 2
(B) 3
(C) 4
(D) 5



Correct Answer : B

(27). Which metal in welding process is subjected to “Weld decay” defect? |

AT Ufohan o fory T 1 “dcs & QY & 31efi fpar AT 82
(A) Brass | Oidd

(B) Copper | didl

(C) Mild steel | TRH SXTd

(D) Stainless steel | oY T

Correct Answer : D

(28). What is the main reason, that aluminium is difficult to weld? | ¥ hIRT[
w18, 7 Teifam &) 3w s g g?

(A) Less weight | ®H duid

(B) Oxide formation | &ﬁaﬂﬁgﬁﬁﬁm

(C) High thermal conductivity | 3 41 AT d]

(D) Better strength weight ratio | Al {JUTd hT =31 <Gl

Correct Answer : B

(29). Which type of steel is suitable for welding? | W%WWWW
XA SUYed 87

(A) Ferrite | BRIC

(B) Martin | HIf¢

(C) Austenitic | 3cHIcH
(D) Weld | 9¢8




Correct Answer : C

(30). Which is a non destructive test? | A %»&gﬂi\cd RRTY OP?I"I W%?

(A) Without damaging the job | SICEINEE] RERSIG! uédlL{
(B) With damaging and with distracting | JdIq 3R %@Aﬁ‘l & 1Y

(C) Nick break test | BEZ &d’) o

(D) Free bend test | Tl d8 ¢

Correct Answer : A

(31). Which one is the properties of aluminium? | Wﬁﬁmwﬁqmwév

(A) Magnetic | W

(B) Less ductile | HH THAT
(C) Non - Magnetic | ﬁTW
(D) Brittleness | q-I":R?IT

Correct Answer : C

(32). Which one is controlled distortion in copper welding? | PR AT H B

I fapfa Fafa gl g2
(A) Key hole | BT EId

(B) Chill plates | faIdl wicq
(C) Purging gas | GFOHT Y
(D) Filler rod | TheeR IS

Correct Answer : B



(33). What is the test in which the weld quality is tested without destroying the

job? | T8 DI Tt Xe & forTH Siie P! Y fort ST I T[ura &1 uRieur fosa
I 82

(A) Destructive test | %»&gﬁcd o

(B) Non-destructive test | :IUW%E'%%E

(C) Semi-destructive test | @Tﬂ%ﬁ\'ﬁaéﬁ
(D) Visual inspection test | ﬁﬁ&ms@wﬁf

Correct Answer : B

(34). How is the scale and oxide removed from stainless steel weld? | LA

T AcS T Whd 3R RIS Bl HY BT Slldl g2
(A) Peening | tﬂﬁﬂm

(B) Coolingin oil | dd H 38T Hh
(C) Coolinginsand | IdH ST ISP

(D) Heating up to 950° to 1100°C and quenched in water | 950° T 1100°C d®H

BT 3R ¥ I1G U & G

Correct Answer : D

(35). What is the reason for lack of fluidity in molten metal in braze welding? | aﬁf

afegT & el g3 g H dRAdT &1 HH! &1 T HRUT g2
(A) Over heating | 31aR IfcT

(B) Improper flame | 3{f<id @l

(C) Inadequate preheating | 3TAT Wi

(D) Improper cleaning and less use of flux | &Hﬁlﬂm 3R UcTR] T HH
I




Correct Answer : C

(36). What is the name of part marked ‘X’ shown in figure? | S{Wﬁ GQIiQ M X’
fafed UM &1 I T 82

(A) Job | SIid
(B) Kerf | B
(C) Covering | dX

(D) Steel core | TadR

Correct Answer : B

(37). How many methods of destructive test? | farRren Rl uteur ot fdrdHt
faferr?

(A) 2
(B) 3
(C) 4
(D) 5

Correct Answer : A



(38). What is mean by preheating? | mé“éll WWW%?
(A) Before welding | ?ﬂ%ﬂﬁ%ﬁ
(B) After welding | dfET & 91

(C) During welding | anTS"I%C?RI"I
(D) Total welding | ﬁé’%"’[

Correct Answer : A

(39). What flux is used in welding brass? | Wﬁﬁﬁmmﬁw
fopaT ST 82

(A) Anti- borax | foRIeh aeg
(B) Borax paste | TRFY IR

(C) Cryolite and barium chloride | mweﬁ?éﬁuﬂa%ﬁm

(D) Zinc chloride and potassium dichromate | m?ﬁhﬂ% 3R glefRrm

Correct Answer : B

(40). Which are the common alloying element of brass? | wdd & 3mH fay Yrd

JaPHYg?

(A) Copper and tin | T 3R fe=1

(B) Bismuth and tin | oAy 3R feq
(C) Antimony and tin | T&THHT 3R fe=1

(D) Copper and zinc | A& 3NR ST

Correct Answer : D



(41). Which flame is suitable for low carbon steel in OAW? | OAW ﬁﬁ'ﬁw

& R dt df Sugad 82
(A) Neutral | dc&{

(B) Oxidizing | 3{TdGIHRUI

(C) Carburising | PTERTISISNT
(D) Slightly neutral | 4TSI de’Y

Correct Answer : A

(42). Which type of cast iron is soft? | fh T PR BT HRE IR A G\Idl %?

(A) Grey castiron | U HRE AR

(B) White cast iron | &@IgC P HUX

(C) Nodular cast iron | IGTR HRC IHTRA
(D) Malleable cast iron | HAIUSA BHRE AR

Correct Answer : A

(43). What is the name marked 'X’ shown in figure? | ICEE:| GQIiQ i X A Y

DI g1 <A T 82

(A) Crack | PH
(B) Blow hole | ST g



(C) Under cut | 38X HC

(D) Preheat area | tﬂﬁ?aa

Correct Answer : A

(44). What are the alloying elements are found in brass? | uﬁaafrﬁ?@rﬁr%rm@
I UMY SfTd g2

(A) Copper & Tin | diem 3R fes
(B) Copper & Zinc | qTeT 3R SR
(C) Copper & Lead | GIEIRECIRESIR:

(D) Copper & Nickel | §IE] GﬁTlr'\'IObﬂ

Correct Answer : B

(45). How the construction of a nozzle for gouging is identified? | 1i|§'=| %%I'QW
rotd o Fafor &1 ggam $ 3 ! 82

(A) Straight nozzle with single preheating hole | Thdl et @ﬂ%ﬂﬂf e
AroTel gRT

(B) Bent nozzle with sectorial preheating holes | mmm%mﬁfaﬁ
ISTd gRT

(C) Fully bent nozzle with circular preheating holes | @W@WW
ANERINEISHER]

(D) Slightly bent nozzle with circular preheating six holes | &n%ﬁa@@rtrﬁfqa
AIHGR B: BId o 1Y ol R

Correct Answer : D



(46). What is the type of arc cutting shown in figure? | IEEE:] IEEIQ Ry 3Th
HICTHIUGR T 57

2. %
7

(A) Plasma arc | WITSHI Y
(B) Oxygen arc | Sfater =g
(C) Metal arc | YTd dlU

(D) Tungsten arc | TTRSA AT

Correct Answer : B

(47). Which type of electrodes are used in oxy - arc cutting? | fTeRit-3meh BT A
T THR & gaaes BT IUTNT {1 ST 82

(A) Tubular | RIdR
(B) Carbon | PHIa

(C) Hydrogen | EIQS:H:I

(D) Low - Hydrogen | b ¥H - 6I$§\I\ﬂ"|




Correct Answer : A

(48). What type of gas flame is used to weld 2mm mild steel by brazing method? |

ST A GRT 2 mm B Tl P AT HRA B ol fhT UBR 1 TG BT ol b7
SN {1 SI1d1 82

(A) Neutral flame | TCRI dl

(B) Carburising flame | Wﬁﬂ'ﬂ?ﬁ

(C) Oxidising flame | 3fierfiep T ot

(D) Oxy-hydrogen flame | &ﬁa@-‘s’ls@m?ﬁ

Correct Answer : C

(49). Which flame is suitable for brass welding? | WW%W@?@@
B ST BIdll 82

(A) Neutral | dc&

(B) Oxidizing | 3B

(C) Carburizing | m
(D) Slightly neutral | ‘m@m

Correct Answer : B



(50). What is the name of the part marked ‘X’ shown in figure? | ICEE:] IEEIQ i
x' 3ifpd YT T A 1 52

(A) Pressure | URR

(B) Gasket | TTdhC

(C) Work coil | BT Hred

(D) Thermo plastic part | 4! WRcd HNT

Correct Answer : C



